RC
1.
LCC
2. LCC (
LCC(
LCC
)
LCC C Cm Lo SR
Ci Cwm
Lp SR
SR Pp DI Py Cp
Po Dl
PH Co
(2) DI

-1 .
p =t 2, B_E
Mg I:)y(du_
Mu E &u O
(MN )
«C )
3
5
(Typel 5)

(1)

2

(3)

RC

LCC

1 15
(LCC)
RC
1 P.G.Aa 500Gal 50
RC Typel Type2 Type3 Typed | Type5
1,600 1,900 2,300 3,500 4,900
15%/5 10%/10 5%/25 3%/50 | 0%/50
2,400 950 230 105 0
DI 4.17 259 1.70 031 0.047
( 30 30 30 7 0
10 10 10 10 0
/ 500 500 500 500 0
300 300 300 70 0
15,000 15,000 15,000 3,500 0
= 400 i |
o
> Typel
- 400
=
=
Type3
i" 400
g
8| Type5

]

08 /
06

04

DI
R
\

— Typel
— Type2

LI

Type3
Typed
— Typeb

00

300 400

500
PGA Gd)

600

Dl

700

800 900 1000

Key Words:



50 Damage Index(DI) 7
500Gal 000 DI 008 _ _ 0
008 DI 0.8 0
018 DI 0.36 - - 7
DI( 2) 036 DI 0.60 - - 30
( 2) 060 DI - 30
6000
10 / 500 / 5000
3 4000
;
3000 ,_l_'_'
1 LCC Ci+Cu+SR g —'_r'—"—'—
2 LCC Ci+CutSR+Lp( ) 200 N — Typel ]
— Type2
3 LCC Ci+Cu+SR+Lo( ) 1000 Type3 |
Type4d
4 . . . . . . . | —TYD(—"S
3 LCC ( Oo 5 10 15 20 25 0 35 © 45 50
1) 50 LCC
LCC Typel 3 6000
LCC 5000
Type4 5 LCC 4000
4 50 25 LCC 2000
O
1 25 3 2000
Type2 50 Type3
yp yp 1000
LCC
0
2 3 Typel Type2 Type3 Type4d Type5
6000
B 50
5000 - 25
5. 4000
LCC 3000
(@}
(@)
—1 2000
1000
0
Typel Type2 Type3 Typed Type5
25000
B 50
20000 | - 25
15000
Y Re 8 10000 [
-
2)SECT—RC RC Ver.5 5000 1
3 0

Typel Type2 Type3 Typed Typeb

4) ( ) 1999 10 4 LCC



